X Current Salary of a Police Officer $50,000 + $5000 = $55,000

g Yearly Retirement Allowance $30,000

E Allowable Earnings $55,000 - $30,000 = $25,000

§ 2007 Total Earnings $121,000

8 Excess Earnings $121,000 - $25,000 = $96,000
Refund Due to Board $30,000

P Current Salary of a Police Officer $50,000

g Yearly Retirement Allowance $30,000

E Allowable Earnings $50,000 - $30,000 = $20,000

_3 2007 Total Earnings $21,000

8 Excess Earnings $21,000 - $20,000 = $1,000
Refund Due to Board $1,000

Christina G.L.c.32,§ 91 G.L.c.32,§91A
N Current Salary of a Police Officer $50,000 $50,000 + $5000 = $55,000
g Yearly Retirement Allowance $30,000 $30,000
E Allowable Earnings $50,000 - $30,000 = $20,000 $55,000 - $30,000 = $25,000
§ 2007 Total Earnings $21,000 Private: $100,000; Public: $21,000
8 Excess Earnings $21,000 - $20,000 = $1,000 $121,000 - $25,000 = $96,000
Refund Due to Board $1,000 $29,000




